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Read the questions carefully and choose the correct option.

1. Which among the following is not a correct addition?

3458
+2483

p) 5841

6 089
+2901

gy 8990

5764
+2808

8572

C)

2. 89 + 87 is more than

A) 186
B) 176
C) 172

D) 212
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3. What is 24 more than 767
A) 52
B) 100
C) 90
D) 110

4. An orchard has 3485 Mango trees, 678 coconut trees and 1289 Banyan trees. How

many trees are there in all the orchard?

A) 5682
B) 5432
C) 5452

D) 5382

5.520+ 0 = __

A) 0
B) 52
C) 520

D) 5200

6. One hundred more than 546 is:

A) 446
B) 546
C) 646

D) 746
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